## Bid #X2114362B1 - Fencing - New, Repair and Replacement Services

Start Date Nov 9, 2017 2:53:28 PM EST Awarded Date Not Yet Awarded

**Bauer Fence Construction Corporation** 

\$963,465.90 (71/71 items)

Bid Contact Steve Bauer

Address 1812 ne 22nd terrace

dhuntersbauer@aol.com

Ft Lauderdale, FL 33305

Ph 954-760-9644 Fax 954-760-9527

Supplier Code VC0000115321

Qualifications CBE

Agency Note	Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
X2114362B1- -01-01	10ft High Fencing (Pave Area) - First Offer	\$21.00	1549 / linear foot	\$32,529.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-02	End Post with Single Brace for 10ft High Fence - First Offer	\$270.00	29 / each	\$7,830.00	
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-03	Corner Post with Double Brace for 10ft High Fence - First Offer	\$350.00	19 / each	\$6,650.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-04	8ft High Fence - First Offer	\$19.00	4896 / linear foot	\$93,024.00	
Product Cod Agency Note		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-05	End Post with Single Brace for 8ft High Fence - First Offer	\$260.00	30 / each	\$7,800.00	
Product Cod Agency Note		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-06	Corner Post with Double Brace for 8ft High Fence - First Offer	\$320.00	32 / each	\$10,240.00	
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-07	6ft High Fencing · First Offer	\$16.50	6466 / linear foot	\$106,689.00	
Product Cod Agency Note		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-08	End post with Single Brace for 6ft High Fence - First Offer	\$200.00	49 / each	\$9,800.00	
Product Cod Agency Note		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-09	Corner post with Double Brace for 6ft High Fence - First Offer	\$270.00	27 / each	\$7,290.00	
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:		

12/15/2017 p. 1

w, Repair and	County Com	missioners		Page 2
X2114362B1- -01-10	8ft High Cantiliver Sliding Gate · First Offer	\$134.00	56 / linear foot	\$7,504.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-11	8ft High Double Swing Gate - First Offer	\$112.00	65 / linear foot	\$7,280.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-12	6ft High Double Swing Gate · First Offer	\$80.00	224 / linear foot	\$17,920.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-13	4ft Wide x 8ft High Personnel Gate · First Offer		7 / each	\$4,760.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-14	Vinyl Coating of Fence Fabric Dark Green - First Offer	\$0.90	3830 / square foot	\$3,447.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-15	Vinyl Coating of Fence Fabric Navy Blue - First Offer		100 / square foot	\$150.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-16	Relocation of Existing 8ft High Fence - First Offer	\$5.00	88 / linear foot	\$440.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-17	Removal and Disposal of Existing Fence - First Offer	\$3.00	10765 / linear foot	\$32,295.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-18	Removal and Disposal of 4ft Pedestrian Gate - First Offer	\$25.00	10 / each	\$250.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-19	Removal and Disposal of 14ft Swing Gate - First Offer	\$100.00	25 / each	\$2,500.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-20	Removal and Disposal of 28ft Slide Gate - First Offer	\$125.00	8 / each	\$1,000.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-21	Miscellaneous Field Fencing and Gate Repair - First Offer	\$80.00	3402 / hour	\$272,160.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-22	Miscellaneous Welding Repairs including Consumables - First Offer	\$75.00	95 / hour	\$7,125.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
	Relocating 4ft Pedestrian Gate (including New Gate Posts) - First Offer		3 / each	\$270.00
Product Code		Supplier Product Co	de:	

w, Repair and	County Com			Page 3
Agency Notes:	46111.1.5	Supplier Notes:	1 00 / 11	<b>*</b>
X2114362B1- -01-24	4ft High Fencing · First Offer	\$16.00	60 / linear foot	\$960.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-25	End post for 4ft High Fencing · First Offer	\$185.00	10 / each	\$1,850.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-26	Corner Post for 4ft High Fencing - First Offer	\$220.00	35 / each	\$7,700.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-27	4ft x 4ft Pedestrian Gate · First Offer	\$350.00	13 / each	\$4,550.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-28	4ft Cantiliver Sliding Gate - First Offer	\$90.00	50 / linear foot	\$4,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-29	4ft Double Swing Gate - First Offer	\$70.00	50 / linear foot	\$3,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-30	4ft x 7ft Panic Gate - First Offer	\$4,100.00	3 / each	\$12,300.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-31	Relocating 14ft Swing Gate (including New Gate Posts) - First Offer	\$200.00	2 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- Rel	locating 28ft Slide Gate (including New Gate Posts) - First Offer	\$200.00	3 / each	\$600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-33	PVC tubular Dark Green Slats - First Offer	\$2.00	277 / square foot	\$554.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-34	Single 8ft High Swing Gate (15ft to 20ft) - First Offer	\$120.00	5 / linear foot	\$600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-35	Single 8ft High Swing Gate (20ft to 32ft) - First Offer	\$130.00	62 / linear foot	\$8,060.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-36	Top Rail Replacement · First Offer	\$2.80	45 / linear foot	\$126.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-37	Sea Fan - A, 8ft High - First Offer	\$690.00	6 / each	\$4,140.00
•			-	

w, Repair and	County Com	illissioners		Page 4
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-38	Sea Fan - B, 8ft High - First Offer	\$100.00	2 / each	\$200.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-39	Replacement Barbed Wire and Barbed Wire Arms - First Offer	\$2.00	3252 / linear foot	\$6,504.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-40	Replacement Line Posts 8ft High - First Offer	\$45.00	3 / each	\$135.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-41	Bollards (5ft-0in Above Existing Grade) - First Offer	\$230.00	8 / each	\$1,840.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-42	Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First Offer	\$50.00	3 / each	\$150.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-43	Center Rail Replacement - First Offer	\$2.90	1254 / linear foot	\$3,636.60
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-44	Bottom Rail Replacement - First Offer	\$3.10	687 / linear foot	\$2,129.70
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-45	Line Posts 10ft High - First Offer	\$60.00	2 / each	\$120.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-46	10ft High Cantiliver Sliding Gate - First Offer	\$175.00	149 / linear foot	\$26,075.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-47	10ft High Double Swing Gate - First Offer	\$105.00	103 / linear foot	\$10,815.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-48	10ft x 4ft High Personnel Gate - First Offer	\$750.00	37 / each	\$27,750.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
	le 10ft High Single Swing Gate (15ft to 20ft) - First Offer	\$145.00	31 / linear foot	\$4,495.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	ode:	
X2114362B1- -01-50	10ft High K-Brace Gate (20ft to 32ft) - First Offer	\$190.00	20 / linear foot	\$3,800.00
Product Code:		Supplier Product Co		

w, Repair and	County Com	missioners		Page 5
X2114362B1- -01-51	Relocation of Existing 10ft High Fence - First Offer	\$20.00	20 / linear foot	\$400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-52	10ft High Fencing Non-Paved Areas - First Offer	\$30.00	20 / linear foot	\$600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-53	Vinyl Coating of Fence Fabric Black - First Offer	\$1.10	39866 / square foot	\$43,852.60
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-54	10ft High Fencing Ornmental Steel - First Offer		20 / linear foot	\$3,800.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-55	4in Gate Post up to 10ft High Fence - First Offer	\$190.00	22 / each	\$4,180.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-56	6-5/8in Gate Post up to 10ft High Fence - First Offer	\$330.00	9 / each	\$2,970.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-57	6-5/8in K Brace Gate Post up to 21ft High - First Offer	\$410.00	3 / each	\$1,230.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-58	8-5/8in Gate Post up to 10ft High Fence - First Offer	\$490.00	2 / each	\$980.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-59	8-5/8in K Brace Gate Post up to 21ft High - First Offer	\$640.00	2 / each	\$1,280.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-60	6ft High Cantilever Gate - First Offer	\$125.00	65 / linear foot	\$8,125.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-61	6ft x 4ft High Personnel Gate - First Offer	\$510.00	8 / each	\$4,080.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-62	6ft High Sliding Gate - First Offer	\$75.00	19 / linear foot	\$1,425.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-63	Liftmaster SL-585 1HP Slide Gate Operators - First Offer	\$3,900.00	4 / each	\$15,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-64	Liftmaster plug-in Loop Detectors - First Offer	\$320.00	9 / each	\$2,880.00
Product Code:		Supplier Product Co	de:	

Agency Notes	S:	Supplier Notes:		
X2114362B1- -01-65	Viking H-10 1HP Slide Gate Operators - First Offer	\$4,000.00	5 / each	\$20,000.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-66	Ditek DTK-120 Surge Protectors · First Offer	\$100.00	12 / each	\$1,200.00
Product Code Agency Notes		Supplier Product Co- Supplier Notes:	de:	
X2114362B1- -01-67	Saw Cut Loop Installations - First Offer	\$650.00	15 / each	\$9,750.00
Product Code Agency Notes		Supplier Product Co- Supplier Notes:	de:	
X2114362B1- -01-68	Operator Pads - Supply and Install - First Offer	\$600.00	3 / each	\$1,800.00
Product Code Agency Notes		Supplier Product Co- Supplier Notes:	de:	
X2114362B1- -01-69	Operator Pads - Removal of existing pads - First Offer	\$600.00	2 / each	\$1,200.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-70	Centurion Aluminum 3 Rail - First Offer	\$56.00	20 / linear foot	\$1,120.00
Product Code Agency Notes		Supplier Product Co- Supplier Notes:	de:	
X2114362B1- -01-71	Centurion Steel Rail - First Offer	\$50.00	1091 / linear foot	\$54,550.00
Product Code Agency Notes		Supplier Product Co- Supplier Notes:	de:	
Bid Allowance				\$6,000.00

Coast To Coast Garage Door

\$2,988,168.00 (71/71 items)

Bid Contact Jerome Payne

c2cgaragedoor@live.com

**Ph 954-653-**1600

Fax 954-840-9257

Supplier Code VS0000014407
Qualifications CBE SB SBE

Address 10501 NW 50th Street

ste 106

Sunrise, FL 33351

Qualifications CDE SD SDE					
Agency Note	Agency Notes:		Supplier Notes:		
Item #	Line Item	Unit Price	Qty/Unit	Total Price	
X2114362B1- -01-01	10ft High Fencing (Pave Area) - First Offer	\$20.00	1549 / linear foot	\$30,980.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-02	End Post with Single Brace for 10ft High Fence - First Offer	\$350.00	29 / each	\$10,150.00	
Product Cod Agency Note		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-03	Corner Post with Double Brace for 10ft High Fence - First Offer	\$400.00	19 / each	\$7,600.00	
Product Code: Agency Notes:		Supplier Product Co- Supplier Notes:	de:		

12/15/2017 p. 6

w, Repair and	County Com	missioners		Page 7
X2114362B1- -01-04	8ft High Fence · First Offer	\$17.50	4896 / linear foot	\$85,680.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-05	End Post with Single Brace for 8ft High Fence - First Offer	\$250.00	30 / each	\$7,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-06	Corner Post with Double Brace for 8ft High Fence - First Offer	\$300.00	32 / each	\$9,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-07	6ft High Fencing - First Offer	\$15.00	6466 / linear foot	\$96,990.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-08	End post with Single Brace for 6ft High Fence · First Offer	\$185.00	49 / each	\$9,065.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-09	Corner post with Double Brace for 6ft High Fence - First Offer	\$245.00	27 / each	\$6,615.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-10	8ft High Cantiliver Sliding Gate · First Offer	\$3,000.00	56 / linear foot	\$168,000.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-11	8ft High Double Swing Gate · First Offer	\$2,800.00	65 / linear foot	\$182,000.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-12	6ft High Double Swing Gate · First Offer	\$1,700.00	224 / linear foot	\$380,800.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-13	4ft Wide x 8ft High Personnel Gate · First Offer	\$625.00	7 / each	\$4,375.00
Product Code Agency Notes		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-14	Vinyl Coating of Fence Fabric Dark Green - First Offer	\$1.25	3830 / square foot	\$4,787.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-15	Vinyl Coating of Fence Fabric Navy Blue - First Offer	\$1.25	100 / square foot	\$125.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-16	Relocation of Existing 8ft High Fence · First Offer	\$10.00	88 / linear foot	\$880.00
Product Code Agency Notes		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-17	Removal and Disposal of Existing Fence · First Offer	\$3.00	10765 /	\$32,295.00
Product Code	9:	Supplier Product Co	1	

bid #X2114362B1 - Fencing - New, Repair and

	ocunty conn	missioners		Page 8
Agency Notes:		Supplier Notes:		
X2114362B1- -01-18	Removal and Disposal of 4ft Pedestrian Gate · First Offer	\$10.00	10 / each	\$100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-19	Removal and Disposal of 14ft Swing Gate - First Offer	\$100.00	25 / each	\$2,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1- -01-20	Removal and Disposal of 28ft Slide Gate - First Offer	\$120.00	8 / each	\$960.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
	Miscellaneous Field Fencing and Gate Repair - First Offer	\$80.00	3402 / hour	\$272,160.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1- -01-22	Miscellaneous Welding Repairs including Consumables - First Offer	\$80.00	95 / hour	\$7,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- Re	elocating 4ft Pedestrian Gate (including New Gate Posts) - First Offer	\$100.00	3 / each	\$300.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1- -01-24	4ft High Fencing · First Offer	\$12.00	60 / linear foot	\$720.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:	
X2114362B1- -01-25	End post for 4ft High Fencing - First Offer	\$125.00	10 / each	\$1,250.00
Product Code: Agency Notes:		Supplier Product Cod Supplier Notes:	de:	
X2114362B1- -01-26	Corner Post for 4ft High Fencing · First Offer	\$125.00	35 / each	\$4,375.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1- -01-27	4ft x 4ft Pedestrian Gate · First Offer	\$415.00	13 / each	\$5,395.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1- -01-28	4ft Cantiliver Sliding Gate · First Offer	\$990.00	50 / linear foot	\$49,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1- -01-29	4ft Double Swing Gate · First Offer	\$990.00	50 / linear foot	\$49,500.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1- -01-30	4ft x 7ft Panic Gate · First Offer	\$550.00	3 / each	\$1,650.00
Product Code: Agency Notes:		Supplier Product Coo Supplier Notes:	de:	
X2114362B1-	Relocating 14ft Swing Gate (including New Gate Posts) -	\$200.00	2 / each	\$400.00

w, Repair and	County Com	missioners		Page 9
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- Re -01-32	locating 28ft Slide Gate (including New Gate Posts) - First Offer	\$300.00	3 / each	\$900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-33	PVC tubular Dark Green Slats - First Offer	\$2.00	277 / square foot	\$554.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-34	Single 8ft High Swing Gate (15ft to 20ft) - First Offer	\$65.00	5 / linear foot	\$325.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-35	Single 8ft High Swing Gate (20ft to 32ft) - First Offer	\$80.00	62 / linear foot	\$4,960.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-36	Top Rail Replacement - First Offer	\$2.50	45 / linear foot	\$112.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-37	Sea Fan - A, 8ft High - First Offer	\$650.00	6 / each	\$3,900.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-38	Sea Fan - B, 8ft High - First Offer	\$125.00	2 / each	\$250.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-39	Replacement Barbed Wire and Barbed Wire Arms - First Offer	\$2.50	3252 / linear foot	\$8,130.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-40	Replacement Line Posts 8ft High - First Offer	\$65.00	3 / each	\$195.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-41	Bollards (5ft-0in Above Existing Grade) - First Offer	\$300.00	8 / each	\$2,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-42	Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First Offer	\$50.00	3 / each	\$150.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-43	Center Rail Replacement - First Offer	\$3.50	1254 / linear foot	\$4,389.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-44	Bottom Rail Replacement - First Offer	\$3.50	687 / linear foot	\$2,404.50
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	

w, Repair and	County Com	missioners		Page 10
X2114362B1- -01-45	Line Posts 10ft High - First Offer	\$140.00	2 / each	\$280.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-46	10ft High Cantiliver Sliding Gate - First Offer	\$4,400.00	149 / linear foot	\$655,600.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-47	10ft High Double Swing Gate - First Offer	\$4,200.00	103 / linear foot	\$432,600.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-48	10ft x 4ft High Personnel Gate - First Offer	\$700.00	37 / each	\$25,900.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-49	Single 10ft High Single Swing Gate (15ft to 20ft) - First Offer	\$75.00	31 / linear foot	\$2,325.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-50	10ft High K-Brace Gate (20ft to 32ft) - First Offer	\$110.00	20 / linear foot	\$2,200.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-51	Relocation of Existing 10ft High Fence - First Offer	\$5.00	20 / linear foot	\$100.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-52	10ft High Fencing Non-Paved Areas - First Offer	\$13.00	20 / linear foot	\$260.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-53	Vinyl Coating of Fence Fabric Black - First Offer	\$1.25	39866 / square foot	\$49,832.50
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-54	10ft High Fencing Ornmental Steel - First Offer	\$180.00	20 / linear foot	\$3,600.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-55	4in Gate Post up to 10ft High Fence - First Offer	\$275.00	22 / each	\$6,050.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-56	6-5/8in Gate Post up to 10ft High Fence - First Offer	\$405.00	9 / each	\$3,645.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-57	6-5/8in K Brace Gate Post up to 21ft High - First Offer	\$635.00	3 / each	\$1,905.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-58	8-5/8in Gate Post up to 10ft High Fence - First Offer	\$635.00	2 / each	\$1,270.00
Product Cod	le:	Supplier Product Co	de:	

v, Repair and	County Com			Page 17
Agency Notes:		Supplier Notes:		
X2114362B1- -01-59	8-5/8in K Brace Gate Post up to 21ft High · First Offer	\$700.00	2 / each	\$1,400.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-60	6ft High Cantilever Gate - First Offer	\$3,000.00	65 / linear foot	\$195,000.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-61	6ft x 4ft High Personnel Gate - First Offer	\$450.00	8 / each	\$3,600.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-62	6ft High Sliding Gate · First Offer	\$2,150.00	19 / linear foot	\$40,850.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-63	Liftmaster SL-585 1HP Slide Gate Operators - First Offer	\$2,700.00	4 / each	\$10,800.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-64	Liftmaster plug-in Loop Detectors - First Offer	\$250.00	9 / each	\$2,250.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-65	Viking H-10 1HP Slide Gate Operators - First Offer	\$3,100.00	5 / each	\$15,500.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-66	Ditek DTK-120 Surge Protectors - First Offer	\$95.00	12 / each	\$1,140.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-67	Saw Cut Loop Installations - First Offer	\$560.00	15 / each	\$8,400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-68	Operator Pads - Supply and Install - First Offer	\$550.00	3 / each	\$1,650.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-69	Operator Pads - Removal of existing pads - First Offer	\$200.00	2 / each	\$400.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-70	Centurion Aluminum 3 Rail - First Offer	\$36.00	20 / linear foot	\$720.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-71	Centurion Steel Rail - First Offer	\$48.00	1091 / linear foot	\$52,368.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
Bid				\$6,000.0

**SGA Management Inc** 

\$3,705,729.44 (71/71 items)

Bid Contact Elvis Sicard

info@sgamanagementinc.com

**Ph 786-395-**4281

Address 1709 NW 79 Ave
Doral, FL 33126

Supplier Cos	Ph /86-395-4281			
	le VS0000013884	Cumplier Notes		
Agency Note	es: Line Item	Supplier Notes:		
X2114362B1-	10ft High Fencing (Pave Area) - First Offer	Unit Price \$32.00	Qty/Unit 1549 /	<b>Total Price</b> \$49,568.00
		linear foot		
X2114362B1- -01-02	End Post with Single Brace for 10ft High Fence - First Offer	I I		
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-03	Corner Post with Double Brace for 10ft High Fence - First Offer	\$65.90	19 / each	\$1,252.10
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-04	8ft High Fence - First Offer	\$28.00	4896 / linear foot	\$137,088.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-05	End Post with Single Brace for 8ft High Fence - First Offer	\$55.98	30 / each	\$1,679.40
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-06	Corner Post with Double Brace for 8ft High Fence - First Offer	\$60.99	32 / each	\$1,951.68
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-07	6ft High Fencing - First Offer	\$24.00	6466 / linear foot	\$155,184.00
Product Cod Agency Note		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-08	End post with Single Brace for 6ft High Fence - First Offer	\$49.80	49 / each	\$2,440.20
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-09	Corner post with Double Brace for 6ft High Fence - First Offer		27 / each	\$1,458.00
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-10	8ft High Cantiliver Sliding Gate - First Offer	\$180.00	56 / linear foot	\$10,080.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1- -01-11	8ft High Double Swing Gate - First Offer	\$190.00	65 / linear foot	\$12,350.00
Product Cod Agency Note		Supplier Product Co Supplier Notes:	de:	
X2114362B1-	6ft High Double Swing Gate - First Offer	\$168.00	224 /	\$37,632.00

v, Repair and County Con			Page 13
-01-12		linear foot	
Product Code: Agency Notes:			
X2114362B1- 4ft Wide x 8ft High Personnel Gate · First Offe -01-13	\$375.00	7 / each	\$2,625.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
X2114362B1- Vinyl Coating of Fence Fabric Dark Green · First Offe	\$22.00	3830 / square foot	\$84,260.00
Product Code: Agency Notes:	Supplier Product Co- Supplier Notes:	de:	
X2114362B1- Vinyl Coating of Fence Fabric Navy Blue · First Offe	\$22.00	100 / square foot	\$2,200.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
X2114362B1- Relocation of Existing 8ft High Fence · First Offe	\$28.00	88 / linear foot	\$2,464.00
Product Code: Agency Notes:	Supplier Product Co- Supplier Notes:	de:	
X2114362B1 - Removal and Disposal of Existing Fence - First Offe -01-17	\$18.00	10765 / linear foot	\$193,770.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
X2114362B1- Removal and Disposal of 4ft Pedestrian Gate - First Offe	\$225.00	10 / each	\$2,250.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
X2114362B1- Removal and Disposal of 14ft Swing Gate - First Offe -01-19	\$850.00	25 / each	\$21,250.00
Product Code: Agency Notes:	Supplier Product Co- Supplier Notes:	de:	
X2114362B1- Removal and Disposal of 28ft Slide Gate · First Offe		8 / each	\$7,600.00
Product Code: Agency Notes:	Supplier Product Co- Supplier Notes:	de:	
X2114362B1- Miscellaneous Field Fencing and Gate Repair - First Offer-01-21	\$75.00	3402 / hour	\$255,150.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
X2114362B1- Miscellaneous Welding Repairs including Consumables First Offe		95 / hour	\$18,525.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
X2114362B1- Relocating 4ft Pedestrian Gate (including New Gate Posts) -01-23 First Offe		3 / each	\$1,650.00
Product Code: Agency Notes:	Supplier Product Code: Supplier Notes:		
X2114362B1- -01-24 4ft High Fencing - First Offe		60 / linear foot	\$4,980.00
Product Code: Agency Notes:	Supplier Product Co- Supplier Notes:	de:	
X2114362B1- -01-25 End post for 4ft High Fencing · First Offe		10 / each	\$280.00
	Supplier Product Co		

County Com	missioners		Page 14
Corner Post for 4ft High Fencing · First Offer	\$32.00	35 / each	\$1,120.00
	Supplier Product Co Supplier Notes:	de:	
4ft x 4ft Pedestrian Gate · First Offer	\$295.00	13 / each	\$3,835.00
	Supplier Product Co Supplier Notes:	de:	
4ft Cantiliver Sliding Gate · First Offer	\$4,500.00	50 / linear foot	\$225,000.00
	Supplier Product Co Supplier Notes:	de:	
4ft Double Swing Gate · First Offer	\$4,500.00	50 / linear foot	\$225,000.00
	Supplier Product Co Supplier Notes:	de:	
4ft x 7ft Panic Gate · First Offer	\$950.00	3 / each	\$2,850.00
	Supplier Product Co Supplier Notes:	de:	
Relocating 14ft Swing Gate (including New Gate Posts) - First Offer	\$1,200.00	2 / each	\$2,400.00
	Supplier Product Co Supplier Notes:	de:	
elocating 28ft Slide Gate (including New Gate Posts) - First Offer	\$5,300.00	3 / each	\$15,900.00
	Supplier Product Co Supplier Notes:	de:	
PVC tubular Dark Green Slats · First Offer	\$160.00	277 / square foot	\$44,320.00
	Supplier Product Co Supplier Notes:	de:	
Single 8ft High Swing Gate (15ft to 20ft) - First Offer	\$295.00	5 / linear foot	\$1,475.00
	Supplier Product Code: Supplier Notes:		
Single 8ft High Swing Gate (20ft to 32ft) - First Offer	\$295.00	62 / linear foot	\$18,290.00
	Supplier Product Code:		
Top Rail Replacement - First Offer	\$18.00	45 / linear foot	\$810.00
	Supplier Product Co Supplier Notes:	de:	
Sea Fan - A, 8ft High · First Offer	\$1,200.00	6 / each	\$7,200.00
	Supplier Product Co Supplier Notes:	de:	
Sea Fan - B, 8ft High · First Offer	\$800.00	2 / each	\$1,600.00
	Supplier Product Code: Supplier Notes:		
Replacement Barbed Wire and Barbed Wire Arms · First Offer	\$19.50	3252 / linear foot	\$63,414.00
	Corner Post for 4ft High Fencing · First Offer  4ft x 4ft Pedestrian Gate · First Offer  4ft Cantiliver Sliding Gate · First Offer  4ft Double Swing Gate · First Offer  4ft x 7ft Panic Gate · First Offer  Relocating 14ft Swing Gate (including New Gate Posts) · First Offer  Blocating 28ft Slide Gate (including New Gate Posts) · First Offer  PVC tubular Dark Green Slats · First Offer  Single 8ft High Swing Gate (15ft to 20ft) · First Offer  Top Rail Replacement · First Offer  Sea Fan - A, 8ft High · First Offer  Sea Fan - B, 8ft High · First Offer	Aft x 4ft Pedestrian Gate - First Offer \$295.00  Supplier Product Co Supplier Notes:  4ft Cantiliver Sliding Gate - First Offer \$4,500.00  Supplier Product Co Supplier Notes:  4ft Double Swing Gate - First Offer \$4,500.00  Supplier Product Co Supplier Notes:  4ft x 7ft Panic Gate - First Offer \$950.00  Supplier Product Co Supplier Notes:  4ft x 7ft Panic Gate - First Offer \$950.00  Supplier Product Co Supplier Notes:  Relocating 14ft Swing Gate (including New Gate Posts) - First Offer Supplier Notes:  PVC tubular Dark Green Slats - First Offer \$1,200.00  PVC tubular Dark Green Slats - First Offer \$160.00  Supplier Product Co Supplier Notes:  Single 8ft High Swing Gate (15ft to 20ft) - First Offer \$2,95.00  Supplier Notes:  Single 8ft High Swing Gate (20ft to 32ft) - First Offer \$2,95.00  Supplier Product Co Supplier Notes:  Single 8ft High Swing Gate (20ft to 32ft) - First Offer \$18.00  Supplier Product Co Supplier Notes:  Supplier Product Co Supplier Notes:	Corner Post for 4ft High Fencing - First Offer   \$32.00   35 / each

	Supplier Product Co Supplier Notes:	de:		
Replacement Line Posts 8ft High - First Offer	\$120.00	3 / each	\$360.00	
	Supplier Product Co Supplier Notes:	de:		
Bollards (5ft-0in Above Existing Grade) - First Offer	\$600.00	8 / each	\$4,800.00	
	Supplier Product Co Supplier Notes:	de:		
Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First Offer	\$600.00	3 / each	\$1,800.00	
	Supplier Product Co Supplier Notes:	de:		
Center Rail Replacement - First Offer	\$20.00	1254 / linear foot	\$25,080.00	
	Supplier Product Code: Supplier Notes:			
Bottom Rail Replacement - First Offer	\$20.00	687 / linear foot	\$13,740.00	
	Supplier Product Co Supplier Notes:	de:		
Line Posts 10ft High - First Offer	\$124.00	2 / each	\$248.00	
	Supplier Product Code: Supplier Notes:			
10ft High Cantiliver Sliding Gate - First Offer	\$450.00	149 / linear foot	\$67,050.00	
	Supplier Product Co Supplier Notes:	de:		
10ft High Double Swing Gate - First Offer	\$450.00	103 / linear foot	\$46,350.00	
	Supplier Product Co Supplier Notes:	de:		
10ft x 4ft High Personnel Gate - First Offer	\$1,500.00	37 / each	\$55,500.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
gle 10ft High Single Swing Gate (15ft to 20ft) - First Offer	\$465.00	31 / linear foot	\$14,415.00	
	Supplier Product Code: Supplier Notes:			
10ft High K-Brace Gate (20ft to 32ft) - First Offer	\$490.00	20 / linear foot	\$9,800.00	
	Supplier Product Code: Supplier Notes:			
Relocation of Existing 10ft High Fence - First Offer	\$260.00	20 / linear foot	\$5,200.00	
	Supplier Product Co Supplier Notes:	de:		
10ft High Fencing Non-Paved Areas - First Offer	\$200.00	20 / linear foot	\$4,000.00	
	Supplier Product Co Supplier Notes:	de:		
	Removal of Existing Bollards (0 ft-1in to 10ft-0 in) · First Offer  Center Rail Replacement · First Offer  Bottom Rail Replacement · First Offer  Line Posts 10ft High · First Offer  10ft High Cantiliver Sliding Gate · First Offer  10ft High Double Swing Gate · First Offer  10ft x 4ft High Personnel Gate · First Offer  10ft High Single Swing Gate (15ft to 20ft) · First Offer  10ft High K-Brace Gate (20ft to 32ft) · First Offer  Relocation of Existing 10ft High Fence · First Offer	Bollards (5ft-0in Above Existing Grade) - First Offer \$600.00  Supplier Product Co Supplier Notes:  Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First Offer \$600.00  Center Rail Replacement - First Offer \$20.00  Supplier Product Co Supplier Notes:  Bottom Rail Replacement - First Offer \$20.00  Supplier Product Co Supplier Notes:  Bottom Rail Replacement - First Offer \$124.00  Supplier Product Co Supplier Product Co Supplier Notes:  Line Posts 10ft High - First Offer \$124.00  Supplier Product Co Supplier Notes:  10ft High Cantiliver Sliding Gate - First Offer \$450.00  Supplier Product Co Supplier Notes:  10ft High Double Swing Gate - First Offer \$450.00  Supplier Product Co Supplier Notes:  10ft High Single Swing Gate (15ft to 20ft) - First Offer \$450.00  Supplier Product Co Supplier Notes:  10ft High K-Brace Gate (20ft to 32ft) - First Offer \$490.00  Relocation of Existing 10ft High Fence - First Offer \$260.00  Supplier Product Co Supplier Notes:  Relocation of Existing 10ft High Fence - First Offer \$200.00  Supplier Product Co Supplier Product Co Supplier Notes:  Relocation of Existing 10ft High Fence - First Offer \$200.00	Bollards (5ft-0in Above Existing Grade) - First Offer  Supplier Product Code: Supplier Notes:  Removal of Existing Bollards (0 ft-1in to 10ft-0 in) - First Offer  Supplier Product Code: Supplier Product Code: Supplier Product Code: Supplier Notes:  Center Rail Replacement - First Offer  Supplier Product Code: Supplier Notes:  Bottom Rail Replacement - First Offer  Supplier Product Code: Supplier Notes:  Line Posts 10ft High - First Offer  Supplier Product Code: Supplier Notes:  10ft High Cantiliver Sliding Gate - First Offer  Supplier Product Code: Supplier Notes:  10ft High Double Swing Gate - First Offer  Supplier Product Code: Supplier Notes:  10ft x 4ft High Personnel Gate - First Offer  Supplier Product Code: Supplier Notes:  10ft High Single Swing Gate (15ft to 20ft) - First Offer  Supplier Product Code: Supplier Notes:  10ft High K-Brace Gate (20ft to 32ft) - First Offer  Supplier Product Code: Supplier Product Code: Supplier Notes:  Relocation of Existing 10ft High Fence - First Offer  Supplier Product Code: Supplier Notes:  Relocation of Existing 10ft High Fence - First Offer  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Relocation of Existing 10ft High Fence - First Offer  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier Notes:  Supplier Product Code: Supplier Notes:  Supplier	

w, Repair and	County Com	missioners		Page 16	
-01-53			square foot	-	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-54	10ft High Fencing Ornmental Steel - First Offer	\$665.00	20 / linear foot	\$13,300.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-55	4in Gate Post up to 10ft High Fence - First Offer	\$380.00	22 / each	\$8,360.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-56	6-5/8in Gate Post up to 10ft High Fence - First Offer	\$570.00	9 / each	\$5,130.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-57	6-5/8in K Brace Gate Post up to 21ft High - First Offer	\$480.00	3 / each	\$1,440.00	
Product Code: Agency Notes:	Product Code:		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-58	8-5/8in Gate Post up to 10ft High Fence - First Offer	\$780.00	2 / each	\$1,560.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-59	8-5/8in K Brace Gate Post up to 21ft High - First Offer	\$980.00	2 / each	\$1,960.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-60	6ft High Cantilever Gate - First Offer	\$490.00	65 / linear foot	\$31,850.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-61	6ft x 4ft High Personnel Gate - First Offer	\$580.00	8 / each	\$4,640.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-62	6ft High Sliding Gate - First Offer	\$480.00	19 / linear foot	\$9,120.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-63	Liftmaster SL-585 1HP Slide Gate Operators - First Offer	\$4,700.00	4 / each	\$18,800.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-64	Liftmaster plug-in Loop Detectors - First Offer	\$240.00	9 / each	\$2,160.00	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
X2114362B1- -01-65	Viking H-10 1HP Slide Gate Operators - First Offer		5 / each	\$24,250.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		
X2114362B1- -01-66	Ditek DTK-120 Surge Protectors - First Offer	\$140.00	12 / each	\$1,680.00	
Product Code: Agency Notes:		Supplier Product Co Supplier Notes:	de:		

w, Repair and	County Continuessioners			Page 17
X2114362B1- -01-67	Saw Cut Loop Installations - First Offer	\$880.00	15 / each	\$13,200.00
		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-68	Operator Pads - Supply and Install - First Offer	\$560.00	3 / each	\$1,680.00
		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-69	Operator Pads - Removal of existing pads - First Offer	\$380.00	2 / each	\$760.00
		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-70	Centurion Aluminum 3 Rail - First Offer	\$68.00	20 / linear foot	\$1,360.00
		Supplier Product Code: Supplier Notes:		
X2114362B1- -01-71	Centurion Steel Rail - First Offer	\$85.00	1091 / linear foot	\$92,735.00
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
Bid Allowance				\$6,000.00

12/15/2017 p. 17